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1,315,682
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245,654
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2,257
3,118

870,532

359,890

839,867
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DAISXIZHAE ZS0IBAL(ZH22IAH)
600,000,002 600,000
z 300,000
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NAIBXI 22 A MMM SO E (R 2
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sAol=2el 8,336 25,551 A17,215
sA2c2g 8,336 8,751 A415
201 et 1,686 1,700 A4
01 AtS 22l 1,686 1,700 A4
DEEL] 966
2)SNYR FXU T2 0fAlY|
7,000+3% *462! 96
N3322l 720
DSNHEUHAT S2LT 48 L 2@
=2 1,200%30021 23] 720
202 O4Hl 6,650 7,051 A 401
01 =Yl 6,650 7,051 A 401
NSXESH L BoAHel Sl
70,0003 «153] 3,150
NSX0I8 2 285X NE @4
70,000%2E *102] 1,400
NEWSK L SNHS A5+
70,000%3H 103 2,100
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12 JIEtE2 4= 357,100 112,760 244,340
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= 249,970
= 35,710
= 71,420
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NaEdiee S el (HACCP) S X3
S A=F 300,000, 000% 17 2= *100% 300,000
NESUFIIZSAIE 10,000, 000& 10,000
Sx SENHFALSY 640,000 0 640,000
& 400,000
S 48,000
s 192,000
307 2120l & 371,920 0 371,920
= 196,000
[ 35, 184
= 140,736
02 It Ex 371,920 0 371,920
NExE SEXRS A 371,920,000 371,920
& 196,000
[ 35, 184
= 140,736
402 22t H=01S 268,080 0 268,080
& 204,000
[ 12,816
= 51,264
01 It ELEL 268,080 0 268,080
Nex= SEXRSA 268,080,000 268,080
= 204,000
[ 12,816
= 51,264
HH2EZH(HEB=E ) 22,690 20,448 2,242
el 2E 4,200 4,200 0
el 2EH| 4,200 4,200 0
203 LR =& 4,200 4,200 0
04 FA2EERFAH 4,200 4,200 0
NEN2E 2= 350,000+ 12& 4,200
122l 18,490 16,248 2,242
Jl=&Hl 18,490 16,248 2,242
201 LEet=gH| 11,700 11,700 0
01 AtR2teld] 11,700 11,700 0
et~ 7,000
2)FM2E JIZ 7,000,000 7,000
1)=&t 4,200
2)FA2E0 M2 DHAHI  7,000%20 «30 4,200
N3329tl 500
2)*E23 % HA 500,000 500
202 O 6,790 4,548 2,242
01 =LHAOYI 6,790 4,548 2,242
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